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Method of determining the simulaty
ratio of the figure.
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2 B4 7 ;_Gﬁ% hE N7 A giii’\-_’__} There are two figures which called A and B.
As volume ratio of B is twice as large as A,so them
homothetic ratio are 1: V2.
BRNGBER  (Modern translation) In this way, when the volume ratio of A and B are 1:X,
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them homothetic ratio are 1: VX
So if we know length of A, we can know length of B.
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Also, look at the thousand square meters the One bushel View a
two-bushel bottle and two thousand square meters. The second
cube root emitted by open legislation, by mouth places a mass one

bushel a four point nine minutes, it is possible to know the mouth
of the two squares bottle. Furthermore, it is possible to deep within
the mass one bushel are two point seven minutes, to know the

/ depth of the two squares mass by multiplying the second cube root.
/ Also, it is possible to know when multiplied by similarity ratio to the

mass is one bushel thousand two hundred and fifty square meters,
the depth. With this calculation method, it is possible to give an
answer jugs and various vessels according the respective questions
When the volume is two-fold problem is to the third power of the
length of the original side, it 2 is multiplied, by the two of the cube
root is seen that the length of the volume of the sides. Also, when
the volume of one-half of the problem, the third power of the
length of the original edge, which was halved, it is understood that
the length of the volume of the sides by the two of the cube root
Alternatively, when determining the similarity ratio from the
volume ratio, the original volume ratio volume ratio comes out to
be obtained as to one. The ratios and may issue a similarity ratio is

to the cube root. This method can_be used for various things.
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(summary 'Futures problem ‘ impressions)
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COMEEIL. ABEENSHHELEZ RO D =ZFIRZFEL-LD T, £kt This problem is one of with the cube root of determining the
NNTT=YEI-T-YTHZET, EAGTHBPLLEEROONSHERGED, similarity ratio of the volume ratio .also be to divide or to or

multiplied by ratio .any similarity ratio required practical.
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EELLDNENYIZEELH27=DT, SRIZBATHAETSEIIC I want to decipher their own for the problem because it was
L7=L>, borrowed the power of teachers
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SEDFMBICEEN-BY . EOXNEZHAERIT LDITETHEIL It was very difficult to read and understand the old sentence.
MNO=DNHAGTHEHHBRORKXZEEX, HhMYOIT T EHIETRIZE To write the diagrams and equations , it was possible examine
LB RT HEMNTET -, the problem well
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The person in charge :yazima,miura
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